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1 Name each of the organelles (a-f) and describe their function. (6 marks)
a. d.
b. e.
C. f.

2  State two mandatory safety features on a chainsaw and explain how they p

the operator’s hands. (4 marks)
3  Statethree potential environmental i ts associatedwith stump or brush removal. (3 marks)
4 clay soil and how they each affect tree growth. (3 marks)
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5 a) Describe the function of the Collenchyma cells. (1 mark)
b) Describe the function of the Sclerenchyma cells. (1 mark)
6  Foranamed land-based machine, describe how it is powered and performs its task. (2 marks)

7 a) Explainhow ablocked air filter may affect performance of'e > engine. (1 mark)
b)  Explain how the fault may be remedied. (1 mark)
8 Describe two key points of t ision and Use of Work Equipment Regulations
(PUWER) 1998. (2 marks)

-+ 3 See next page +
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9  Youarerequiredto fell a tree (max diameter 380 mm at felling height) that is straight
standing, but has a visible fruiting body of a fungus causing brown rot.

Discuss the importance of correct fungal identification and how the potential condition
of the wood may affect control of felling. Justify how you would modify your felling
technique and the felling aids you would use. (12 marks)

10 Name three abiotic disorders with the potential to affect tree health. (3 marks)
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11 Name one human influence with the potential to affect tree health. (1 mark)

12 a) State one biotic pathogen and describe any four stages of its lifecycle. (5 marks)

b)  Foryourchosen pathogenin 12 a), descri the host. (2 marks)

(3 marks)
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14 Describe two ways a pathogen or pest can cause secondary infection and for each
describe how it could be controlled or limited. (4 marks)

15 Name two methods of preventing ill health in trees that pro (2 marks)
16  State two poor soil conditions or chagacteristics an e how they can adversely
affect tree growth. (4 marks)

+ 6 End of assessment +





